(%=X 2)

H2 4 FEHEMEAEOR [HIHANE] INZEESZ

% A

(BAL: [

HOH

R

& A

FETHEAEOZE [N fBeEg s
ZRtE

4,114,000

AR

4,,114,000

(AL [

R

& A

A M

BRI (2 H 8EE)

H%H 110,900 X 12 H =1,330,800
EEEATREN (B )

H%E 60,600x12 H = 727,200
et 2 H{RBRSE) 14,000

2,072,000

THE 1,442,000
WHAES (HHMIEDY) 95,000
=3 AR 93,000
Sk
HEAUEF 4 192,000
AR FR] 54,000
AEEE FfH 228,000
PREHE 4 780,000
ZEEEE 496,000
5T 230,000
THBhER A + T KERORSF AR 20,000
H Ui A% 20,000
LS BIFRZERE 21,000
KEMAZRE 25,000
fi HDBE R OVEAEREE 15,000
7 L EZ{EE 15,000
e#s# 54,000
B aark 54,000

2,007,000

B A

HEHM (&E) 20,000

20,000

HEETREE

12,000

S

4,111,000




